300

300

400

o

-0.05

300

400

o

-0.02

0 100 200

20000 A

0 100 200

——
) ——
0.8, —
——
——
0. 6 - ——
——
0.4 \
Gn_pct
==o== Gn_pct
0.2 4 =—o== (n_avg
==o== Gn_avg
=== (n_avg
0.0- —— Gn_avg -
0.0 2.5 5.0 ——/Gn.ave
bin no —* Gn-ave
=== Gn_avg
=== Gn_avg
Gn_avg
e Cn oy

80000

LEPTTE

>
P

avag

BRI

100000

80000 -
60000 -
40000 -
20000 -

R

1.0

Gn_pct
Gn_pct
Gn_pct
Gn_pct
Gn_pct
Gn_pct ~
Gn_pct

0.811)

0.6~

BEERRRR!

0.4 - Gn_pct
Gn_pct
Gn_pct
0.2 ~ Gn_avg

Gn_avg
Gn_avg

Gn_avg
Gn_avg

Gn_avg

SRRRRRAR

Gn_avg
Gn_avg

Gn avg

I

Gn_avg —

100000

80000

60000 -

40000 ~

20000 A

0 -

0.00 0.05

!

Gn_pct
Gn_pct
Gn_pct
Gn_pct
Gn_pct
Gn_pct -
Gn_pct
Gn_pct
Gn_pct
Gn_pct
Gn_avg
Gn_avg .

Gn_avg
Gn_avg -
Gn_avg

Gn_avg
Gn_avg

ARRRRERERRRRRRRRE

Gn_avg
Gn_avg
Gn_avg

i

40000 ~

30000 -

20000 ~

10000 ~

F

50000 A

40000 ~

30000 A

20000 A

10000 ~

iV .

0 100 200

100

200

o

100 200 300

|

0.25 0.50 0.75 1.00

100

200

o

100 200 300

0.25 0.50 0.75 1.00

100

200

o

100 200 300

|

0.25 0.50 0.75

100

200

0 100 200 300
B |
0.2 0.4 0.6

0

100
200
0 100 200 300
L —
0.25 0.50 0.75
0

100

200

o

100 200 30

o

0.5 1.0 1.5

N

.0

100

200

o

100 200 30

|

0.25 0.50 0.75

100

200

0 100 200 300

o
-
e
(S
o
w



